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(5)Fe; O, (8) +4CO(g)==3Fe(s) +4CO, (¥} Fe, O, (s) +4CO(g) +4H,O(g)=—=3Fe(s) +4CO, (g) +4H,0(g)
(BRI DR EN=rE] —REll % 8H, =AH, —AH, .,
OR =X, Z#HEAG FTL A 2 mol

CH, (&) + CO, () = 2C0(g) + 2H,(®

#2 %% /mol 1 1 0 0
4% /mol x x 2x 2x
- #7 /mol (1—2) (1—2) 2x 2x
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A=) +Ad—2)+2x+2x_ 6
1+1 5
R x=0.2, FHIK R JER p(&) =100 kPaX (6/5)=120 kPa
CH,(gp + CO, (g == 2C0(g + 2H,(»

A2 44 /mol 1 1 0 0
#4% /mol 0.2 0.2 0.4 0.4
“F 47 /mol 0.8 0.8 0.4 0.4
M b= oA 1/3 1/3 1/6 1/6
&ty k/kPa 40 40 20 20
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K 0.8x0.8 004
C(1.2)2X (0.4 _
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